	1.
	The_____layer of the TCP/IP protocol suite provides service for end users.

	
	(A)
	data-link  
	(B)
	transport
	(C)
	application

	
	(D)
	physical
	
	
	
	

	2.
	The_____layer of the TCP/IP protocol suite transmits a bit stream over a physical medium.

	
	(A)
	physical  
	(B)
	data-link 
	(C)
	network

	
	(D)
	transport
	
	
	
	

	3.
	The_____layer of the TCP/IP protocol suite is responsible for node-to-node delivery of a frame between two adjacent nodes.

	
	(A)
	transport 
	(B)
	network
	(C)
	data-link

	
	(D)
	session
	
	
	
	

	4.
	According to the von Neumann model, ______

	
	(A)
	only data is 
	(B)
	only programs are
	
	

	
	(C)
	data and programs are
	(D) 
	none of the above
	
	

	5.
	Which of the following is equivalent to 24 in decimal?

	
	(A)
	[11000]2  
	(B)
	[1A]16
	
	

	
	(C)
	[31]8
	(D)
	none of the above
	
	

	6.
	The _____ protocol is one of the protocols in the transport layer.

	
	(A)
	TCP
	(B)
	UDP
	(C)
	SCTP

	
	(D)
	all of the above
	
	
	
	

	7.
	_____ is a protocol for file transfer.

	
	(A)
	FTP
	(B)
	SMTP
	(C)
	TELNET

	
	(D)
	HTTP
	
	
	
	

	8.
	_____ is a protocol for accessing and transferring documents on the WWW

	
	(A)
	FTP
	(B)
	SMTP
	(C)
	TELNET

	
	(D)
	HTTP
	
	
	
	

	9.
	Which of the following IP addresses fall into the CIDR block of 115.64.4.0/22?

	
	(A)
	115.64.8.32 
	(B)
	115.64.7.64
	(C)
	115.64.3.255

	
	(D)
	115.64.12.128
	
	
	
	

	10.
	Which of the following IP addresses can be assigned to the host devices?

	
	(A)
	205.7.8.32/27

	(B)
	191.168.10.2/23
	(C)
	127.0.0.1/8

	
	(D)
	203.123.45.47/28
	
	
	
	


	11.
	Without converting, find the minimum number of digits needed in the destination system for Four-digit decimal converted to octal.

	
	(A)
	5
	(B)
	6
	(C)
	7

	
	(D)
	8
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	12.
	Change 534 to 16-bit two’s complement integers.

	
	(A)
	0000001000110110
	(B)
	0000001000010111
	
	

	
	(C)
	0000001000010110
	(D)
	0000001001010110
	
	

	13.
	The 01110111 is sign-and-magnitude binary number in an 8-bit allocation. Convert this number to decimal. 

	
	(A)
	+119 
	(B)
	-119
	(C)
	+120

	
	(D)
	-120
	
	
	
	

	14.
	For the binary ______ operator, if the input is two 1s, the output is 0.

	
	(A)
	AND
	(B)
	OR
	(C)
	XOR

	
	(D)
	All of the above
	
	
	
	

	15.
	The data in ______ is erased if the computer is powered down.

	
	(A)
	RAM
	(B)
	ROM
	(C)
	A tape drive

	
	(D)
	A CD ROM
	
	
	
	

	16.
	______ is a step-by-step method for solving a problem or doing a task.

	
	(A)
	A construct
	(B)
	A recursion 
	(C)
	An iteration

	
	(D)
	An algorithm
	
	
	
	

	17.
	______ is a basic algorithm that arranges data according to its value.

	
	(A)
	Inquiry 
	(B)
	Sorting
	(C)
	Searching

	
	(D)
	Recursion
	
	
	
	

	18.
	______ is an English-language-like representation of code.

	
	(A)
	A UML diagram

	(B)
	A program
	(C)
	Pseudocode

	
	(D)
	An algorithm
	
	
	
	

	19.
	Find how many times the statement in the following code segment in C is executed.

A=5

do

{

     statement;

     A=A+1;

} while (A<10);


	
	(A)
	4

	(B)
	5
	(C)
	6

	
	(D)
	∞
	
	
	
	

	20.
	Find how many times the statement in the following code segment in C is executed.
A=5

While (A < 8)
{

     statement;

     A=A-2;

} 


	
	(A)
	4

	(B)
	5
	(C)
	6

	
	(D)
	∞
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	21. 
	Find how many times the statement in the following code segment in C is executed.

For (int i=5; i<20, i++)

{

     statement;

     I=i+1;

} 


	
	(A)
	8
	(B)
	9
	(C)
	10

	
	(D)
	∞
	
	
	
	

	22.
	The ________ is a computer subsystem that performs operations on data.

	
	(A)
	CPU

	(B)
	Memory
	(C)
	I/O Hardware

	
	(D)
	None of the above
	
	
	
	


	23.
	Change the  4 13/64  into binary.

	
	(A)
	(0100.0011010)2 
	(B)
	(0101.0011010)2
	(C)
	(0100.0011011)2

	
	(D)
	(1100.0011010)2
	
	
	
	

	24.
	Show the result of  [(99)16 AND (33)16] OR [(00)16 AND (FF)16]

	
	(A)
	(9)16 
	(B)
	(10)16
	(C)
	(11)16

	
	(D)
	(12)16
	
	
	
	

	25.
	Convert  +23x1.111111  in 32 bit IEEE format.

	
	(A)
	0 10000011 11111100000000000000000 
	(B)
	0 10000111 11111100000000000000000

	
	(C)
	0 10000110 11111100000000000000000
	(D)
	0 10000010 11111100000000000000000
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